
1/3 

Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER –VI • EXAMINATION – WINTER 2015 

 

Subject Code: 360503      Date: 21/12/2015      

Subject Name: Chemical Engineering Plant Economics  

Time: 02:30 PM TO 05:00 PM Total Marks: 70 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 
 

 

Q.1 (a) Answer the following. 

(1) Discuss role of Chemical Engineer in chemical plant design. 

(2) Short note on need for plant design. 

07 

04 

03 

 (b) Write checklist for pilot plant investigation. 07 

    
Q.2 (a) Discus shift and operating schedules for process design.  07 

 (b) Which are the technical factors in plant design? Describe any two in detail. 07 

  OR  

 (b) Write important feature of batch and continuous process. 07 

    
Q.3 (a) Write specification for selection of heat transfer equipment.  07 

 (b) List out methods for plant layout and describe scale model in detail. 07 

  OR  

Q.3 (a) Describe selection for size reduction equipment. 07 

 (b) List various factors to be considered for location of chemical plant. 

Discuss any three of them.  
07 

    
Q.4 (a) Short note on capital investment. 07 

 (b) The original value of a mixer is Rs. 40000. Its salvage value is estimated to be 

Rs. 8000 at the end of service life estimated to be 10 years. Determine the 

book value of the mixer at the end of 5 years using: 

(1) Straight line method 

(2) Text-book declining balance method. 

07 

  OR  

Q. 4 (a) Define: (1) Salvage value (2) Cost index (3) Pay out period (4) Turnover ratio 07 

 (b) The annual direct production costs for the plant operating at 70% capacity are 

Rs. 280000 while the sum of annual fixed charges, overhead costs, and 

general expenses is Rs. 200000. What is the break-even point in units of 

production per year if total annual sales are Rs. 560000 and the product sells 

at Rs. 40 per unit? What was the annual gross earning profit of this plant at 

100% capacity? 

07 

    
Q.5 (a) Describe analytical procedure for determining optimum condition with one 

variables. 
07 

 (b) What is insulation? Explain types of insulation available for piping. 07 

  OR  

Q.5 (a) Explain ferrous and non-ferrous pipe. 07 

 (b) Explain break-even chart. 07 
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ગજુરાતી 
પ્રશ્ન. ૧ અ નીચેના પ્રશ્નો ના જવાબ લખો.  

(૧) કેમીકલ પ્લાન્ટ ડિઝાઇનમાાં કેમીકલ ઇજનેરનાાં કાર્ય ની ચચાય કરો. 
(૨) પ્લાન્ટ ડિઝાઇન ની જરૂરીર્ાત પર ટ ાંકનોધ લખો. 

૦૭ 

૦૪ 

૦૩ 

 બ પાઈલોટ પ્લાન્ટ સાંસોધન માટેન ાં ચેક- લલસ્ટ લખો.  ૦૭ 

    
પ્રશ્ન. ૨ અ પ્રોસેસ ડિઝાઇન માટે સીફ્ટ અને ઓપરેટીંગ સસિય લ ની ચચાય કરો. ૦૭ 

 બ પ્લાન્ટ ડિઝાઇન માટે ના ટેકનીકલ પડરબળો ક્યા છે? કોઇપણ બે સવસ્તતૃ વણયન 
કરો.   

૦૭ 

  અથવા  

 બ બેચ અને ક્નન્ટીન અસ પ્રડિર્ા ના અગત્ર્નાાં પાસા લખો.   ૦૭ 

    
પ્રશ્ન. ૩ અ ઉષ્મા સાંિમણ માટેના સાધન સીલેકશન માટે સ્પેશીડિકેશન  લખો.  ૦૭ 

 બ પ્લાન્ટ લે-આઉટ ની પધ્ધસતની ર્ાદી આપો અને સ્કેલ મોિલ સવસ્તાર થી 
સમજાવો.  

૦૭ 

  અથવા  

પ્રશ્ન. ૩ અ સાઇઝ ડરિકશન નાાં સાધનો ની પસાંદગી વણયવો. ૦૭ 

 બ પ્લાન્ટ ની ,સ્થાપના માટે જગ્ર્ાની પસદાંગીને અસર કરતા પરીબળો આપો 
અને તેમાાંના કોઇ પણ ત્રણની ચચાય કરો. 

૦૭ 

    
પ્રશ્ન. ૪ અ થાપણ રોકાણ સવશે ટ ાંકનોધ લખો. ૦૭ 

 બ સમક્નસર ની મ  ળભ ત ડકિંમત ૪૦૦૦૦ રૂ!. છે. તેની ૧૦ વર્ય ની સેવા અસવધ બાદ 
સેલ્વેજ ડકિંમત રૂ!. ૮,૦૦૦ નક્કી  કરવામાાં આવી છે. ૫ વર્ય ના અંતે સમક્નસર ની 
બ ક ડકિંમત નક્કી કરો.  
(૧) સીધી રેખા પધ્ધસત. 
(૨) ટેક્નસ્ટ-બ ક ડિકલાઇનીંગ બેલેન્સ પધ્ધસત.    

૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ વ્ર્ાખ્ર્ા આપો: (૧) સલે્વેજ ડકિંમત (૨) ડકિંમત આંક (૩) પે-આઉટ ગાળો     
(૪) ટનય ઓવર રેસશઓ  

૦૭ 

 બ ૭૦% કાર્યક્ષમતા ધરાવતા પ્લાન્ટ ન ાં સીધો વાસર્િક ઉત્પાદન ખચો રૂ!. ૨૮૦૦૦૦ 
છે જ્ર્ારે વાસર્િક સનશ્ર્વવત ખચય, ઓવરહિે ડકિંમત અને બીજા અન્ર્ ખચાય નો 
સરવાળો રૂ!. ૨૦૦૦૦૦ છે. નીપજ ની એકમ દીઠ રૂ!. ૪૦ ના લેખે વેચતા ક લ 
વાસર્િક વેચાણ રૂ!. ૫૬૦૦૦૦ થાર્ છે. તો વાસર્િક એક્નમ ઉત્પાદન માટે બે્રક-
ઇવન પોઇન્ટ શોધો? જો પ્લાન્ટ ની કાર્યક્ષમતા ૧૦૦% હોર્ તો ક લ વાસર્િક નિો 
કેટલો મેળવી શકાર્?   

૦૭ 

    
પ્રશ્ન. ૫ અ એક ચલ આવડરત ઈષ્ટતમ પડરશ્ર્સ્થતી નક્કી કરવા માટેની સામાન્ર્ પધ્ધસત ૦૭ 
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વણયવો.  
 બ અવાહકતા એટલે શ ? પાઇપીંગ માટે ના અવાહક ના પ્રકાર સવર્ે સમજાવો. ૦૭ 

  અથવા  

પ્રશ્ન. ૫ અ િેરસ અને નોન િેરસ પાઇપ સવર્ે સમજાવો.  ૦૭ 

 બ બ્રેક-ઇવન ચાટય  સમજાવો. ૦૭ 

 

************ 


